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O SHuUSANE (2ae0IE, S&sHSE) 29,000
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FH: S|P &5
CHel: mMsts 1R EER-E
- _ _ HEE
FA-ZH -3 - MEAY - BES Off &+ oM 0 At of HimE2
= 11,600
Al 17,400
202 01| 5,000 5,000 0
01 3401t 5,000 5,000 0
O BMSIETAl ZRFZ 5,000
206 T2 H 10,000 0 10,000
=5 4,000
Al 6.000
01 M2H 10,000 0 10,000
O st&® ued e 10,000
& 4,000
Al 6.000
301 YerEaz 389,000 369,000 20,000
[ 155,600
Al 233,400
10 SAAHIS &S 20,000 369,000 349,000
O 2HRIA M1z X2 20,000
= 8,000
Al 12,000
12 JIEt2 43 369,000 0 369,000
O 2HLSA 2ZAIE 369,000
[ 147,600
Al 221,400
307 212+0| & 50,000 0 50,000
05 QI2teEr3 50,000 0 50,000
O HMSE0IS 2SI 10,000,000 *x3IH 2 30,000
O mMsis 2HYEDE 2Y 20,000
MBS ot3tHiol 29 38,000 8,000 30,000
201 Ler2 | 6.000 6.000 0
01 Atz 6.000 6.000 0
O MEH3 OIS0l 24 28 U 29 =2 6.000
202 01| 2,000 2,000 0
01 3401t 2,000 2,000 0
O A2HZ2 OI3tHIDI E2 % =2 2
20,0008! x5% 203 2,000
307 2I2+0|H 30,000 0 30,000
05 2I2t9Ier3 30,000 0 30,000
O Mer2 oi3tdinl 29 30,000
HAstE T2 9 Sof2l X 32,000 2,000 30,000
202 01| 2,000 2,000 0
01 2401t 2,000 2,000 0
O BMsts Z208 ¥ sofel s & 2,000
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Ha: DI HE
ol WA D= (9l & 2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
307 QI2H0IH 30,000 0 30,000
IETEPNEES 30,000 0 30,000
O mMstaesZ20Y 2 sof2l A 30,000
ZoIxx 2 el 95,750 125,550 29,800
201 Ygreg| 6,050 6,050 0
01 At 22l 750 750 0
O FRUE MASIE =2
50, 00021 *52§ x3A| 2t 750
03 A2 | 5,300 5,300 0
O Z0INZ FAUE L TAE HBAEE 5,300
- HAE BASE 3,000
- TN 222 R 1,0002 %2, 3005 2,300
301 LBB A 14,700 14,700 0
10 BAAHIBAS 3,000 0 3,000
O MRFTAXXI s A8t 3,000
12 JIEH2 A3 1,700 14,700 3,000
O ZOARVKBAMNE R4 Al4 1,700
- HR4H 500,0002 1€ 500
-2 4 300,000 *2€! 600
- YN 200,000 *38! 600
O ZORX ZBAUE &I 243
10,0002 *5 & x20)H & &1 S *10 10,000
401 Al&HIL 20| 30,000 34,800 A4,800
01 Al&| 30,000 34,800 A4,800
O ZOURIIME N& S22 30,000
405 THAHE SHI 45,000 70,000 25,000
01 Kt SEFH S| 45,000 70,000 25,000
O D20 2HEE 98 NAME 22 7Y 45,000
Arstel R X9l 20,800 20,800 0
CistM BoDS HTOHS X AL 20,000 20,000 0
306 =012 20,000 20,000 0
01 2012 20,000 20,000 0
O oSt BV STHS X 20,000
ArstEr BNl 29 TR 800 800 0
202 01t 800 800 0
01 =2Uloibl 800 800 0
O astpr B@2iAY DS 8o U B &
A s 100, 0002 %224 #43| 800
z29 1S 700,426 854,850 A 154,424
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S QIS Bt
M DgI|L 25
chelr B2 1S (el &2
SN ZHM . CA(SH) - HEAY - BAS O 4K gggi; B =
SSIY 1R FR2USK 433,776 554,850 A121,074
201 LereH] 106,000 125,400 19,400
01 At2 22| 106,000 125,400 19,400
O WSEIIY HRM2D 106,000
- A2 N2DS IF 200,000 *300% 60,000
- A 2d BH 7,500,0002! 1% 7,500
A2t 2o 7,500,00024 %1% 7,500
- 52 %2 1,500,00024 10 15,000
- ARl BB 3,000,0002 5% 15,000
- HRDE Y X 1S 200,0002 *5% 1,000
202 01| 327,776 429,450 101,674
01 =ZUHoib 327,776 429,450 101,674
O HEXNYZSRAVS DS 205,118
- AL (1F) 345,80021 %250 86,450
- QW2 (2F) 691,6002! *30% 20,748
- AY M2 (4F) 1,021,0008 x20 20,420
- #A2IH DF (44%F)  15,500,0009 x5 77,500
O JIEt RSERII2 1S 116,958
- AL (1F) 372,40021 %150 55,860
- AL (2%F) 741,2002 %30 22,236
- =2 2UBE (4=F) 10,000,000+ 1% 10,000
- o420 24 (44%F)  5,000,0008 1Y 5,000
- 52 8% 2d 2,200,00024 %10 22,000
- HRD €% wS| 372,40024 +5 1,862
O 2221s 42 =& 5,700
FTHo Y5 NS 62,000 70,000 28,000
201 Lered| 62,000 70,000 /8,000
01 At2 22| 62,000 70,000 A8,000
O ZHAHAZNS 47,000
- MH(220E 2 )
100, 000! +35% 274 0} & +5H & 35,000
- M2 1Y 3,000,0002 *47H D+ 12,000
O MHZSZAIZ BR =S
15,000,000 17H & Al 15,000
=01 s g4l 60,000 60,000 0
201 Yer2Hy| 60,000 60,000 0
01 At2 22| 60,000 60,000 0
O 2=0f Mg us 600, 0002 *50% 30,000
O 2201 AOIHIS 20,0002 +150Z <104 & 30,000
e Yo |42 s YEY SLuS 144,650 170,000 25,350
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Mo DROlY 25
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_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O &F 24 Sl ko HRs2
201 2Bty 144,650 170,000 725,350
01 AtE22/Hl 144,650 170,000 A 25,350
O XNgE dR2u= 650, 0003 +25H x32] 48,750
O &2Z Jold n=s 2,000,000& =103l 20,000
O 2N S5 Y5 SEDS 75,900
HY 2L ZH (WA D) 57,374 85,946 N28,572
A2 HHI(QITH A D) 54,374 85,946 A31,572
ol A (LI THF A 1) 54,374 85,946 231,572
101 Q1 Z4H| 54,374 54,806 A432
01 = 54,374 54,806 N432
O Al2tel==% 7,457« 12B «45A| 24+ 128 48,322
O HItE 4] 30,260,000 *1/30+6 6,052
Jl23H (2T A D) 3,000 0 3,000
Jl23L (e A D) 3,000 0 3,000
203 HRF&Hl 3,000 0 3,000
04 FN2ILRFAHI 3,000 0 3,000
O BXASZLRFEI 250,000& «12& 3,000

_40_




